hen the lighter teol. <he moves with V' the Lighter tood with Us
g\ ) R | i 1 : L = 2 4
YWul, A MU = omtHima YU - -
Uy =062 8 w/g . L, - - .

It wil we,i_fal\ more than (04 oo Lb. P i

| ot =i
L = R
R s i off
L Pudgie: o \i A E G LS -

2 e e
% —hnca:h'\o\ S . e ST "
e~ s
@ Beromse +he Fau\i' with ehicken baﬁ Qi U\fu}w aceeleratiop
Sa the combipesl q.ys'r'em hae an _uf_wwo\_acce_l'mﬁon__ -
Then the fonm SUppOrHirg it must be bigger than its gravit
— Ii__we‘.%t\s_ wore than 10,400 Lh then. S oS -




